PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
CUTTING SHEARS Al ASSEMBLY
LICENSE FILE NAME VERSION QUANTITY
CC-BY-SA 4.0 CUTTING SHEARS.iam 1.0 1
SCALE SHEET DATE
1:4 117 28/9/2020



https://creativecommons.org/licenses/by-sa/4.0/legalcode

PARTS LIST
POS. %?_% aty PART NAME FILE NAME PARTTYPE| SPECIFICATIONS
Al 1 |CUTTING SHEARS CUTTING SHEARS.iam
B1 1 |PARTS LIST PARTS LIST
1 1 |BoDY BODY.iam
1 (a1 1 |UPPER BODY UPPER BODY.ipt Production | STEEL C45
12 |A2 1 |LOWER BODY LOWER BODY.ipt Production | STEEL C45
13 |A3 1 | SPACING BLOCK SPACING BLOCK.ipt Production | STEEL C45
14 |A9 1 |DEPTH STOP DEPTH STOP.ipt Production | STEEL C45
15 |Ab 1 |STOP SPACER STOP SPACER.ipt Production | STEEL C45
16 |A4 2 |MOUNTING ANGLE MOUNTING ANGLE.ipt Production | STEEL A36, DIN 10056
17 |A10 1 |HARDEND INSERT FOR CROPPING HOLE | HARDEND INSERT FOR CROPPING HOLE.iptProduction | STEEL 9260
2 1 |BLADE BLADE.iam
21 |B1 1 |UPPER BLADE UPPER BLADE.ipt Production | STEEL 9260
22 |B2 1 |LOWER BLADE LOWER BLADE.ipt Production | STEEL 9260
3 1 |LEVER LEVER.iam
31 o 1 |LEVER PLATE LEVER PLATE.ipt Production | STEEL C45
32 |c2 2 | CONNECTING LINK CONNECTING LINK.ipt Production | STEEL C45
33 |c3 1 |LEVER LEVER.ipt Production | STEEL A36
3.4 2 |ANSIB18.2.4.5M - M20 x 2.5 ANSI B18.2.4.5M - M20 x 2.5.ipt Standard
35 7 | ANSIB18.2.4.5M - M10 x 1.5 ANSI B18.2.4.5M - M10 x 1.5 - 16.ipt Standard
3.4 7 |ANSIB18.2.3.2M - M10 x 1,5 ANSI B18.2.3.2M - M10 x 1,5 Standard
37 2 |ANSIBI18.2.3.6M - M20 x 2,5 x 35 ANSI B18.2.3.6M - M20 x 2,5 x 35.ipt Standard
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
CUTTING SHEARS B1 ASSEMBLY STEEL METAL/ HARD STEEL
LICENSE FILE NAME VERSION QUANTITY
CC-BY-SA 4.0 PART LIST CUTTING SHEARS.ijm1.0 1
SCALE SHEET DATE
2117 30/9/2020



https://creativecommons.org/licenses/by-sa/4.0/legalcode

PROJECT CREATED BY APPROVED BY

CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL

BODY 1 ASSEMBLY

LICENSE FILE NAME VERSION QUANTITY
CC-BY-SA 4.0 BODY.iam 1.0 1
SCALE SHEET DATE
1:4 N7 28/9/2020



https://creativecommons.org/licenses/by-sa/4.0/legalcode

175

R20

0 QV
300 .
5 180 a
120 N
L
115 a
20 | R20
I 2
1l — ]
Yy (+)
) 20 T
n
- Y
<
12 -
20
_V_C_If
10 T
!
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
UPPER BODY 11 PART STEEL C45
LICENSE FILE NAME VERSION QUANTITY
CC-BY-SA 4.0 UPPER BODY.ipt 1.0 1
SCALE SHEET DATE
1/25 4017 24/9/2020



https://creativecommons.org/licenses/by-sa/4.0/legalcode

100

207

B 170 .
B 124 |
40
i 2
~O
B 380 a
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
LOWER BODY 1.2 PART STEEL C45
LICENSE FILE NAME VERSION QUANTITY
CC-BY-SA 4.0 LOWER BODY.ipt 1.0 1
SCALE SHEET DATE
1/3 5/17 24/9/2020



https://creativecommons.org/licenses/by-sa/4.0/legalcode

25

30

80
~=]
=
}
- 127

PROJECT CREATED BY APPROVED BY

CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL

SPACING BLOCK 1.3 PART STEEL C45

LICENSE FILE NAME VERSION QUANTITY
CC-BY-SA 4.0 SPACING BLOCK.ipt 1.0 1
SCALE SHEET DATE
1:15 617 24/9/2020



https://creativecommons.org/licenses/by-sa/4.0/legalcode

130

R20
|
I
R6
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
DEPTH STOP 1.4 PART STEEL C45
LICENSE FILE NAME VERSION QUANTITY
CC-BY-SA 4.0 DEPTH STOP.ipt 1.0 1
SCALE SHEET DATE
1:1 N7 24/9/2020



https://creativecommons.org/licenses/by-sa/4.0/legalcode

20

40

20

20

n

2 I+
\

PROJECT CREATED BY APPROVED BY

CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL

STOP SPACER 15 PART STEEL C45

LICENSE FILE NAME VERSION QUANTITY
CC-BY-SA 4.0 STOP SPACER.ipt 1.0 1
SCALE SHEET DATE
1:1 817 24/9/2020



https://creativecommons.org/licenses/by-sa/4.0/legalcode

40

S

380
|———A, -
360
- VvV ——
20
B d o
o
. Z
_ @ _ Y _ 1T
S S
| !
! 22224
B SECTION B-B
SCALE1/2
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
MOUNTING ANGLE 1.6 PART STEEL A36
LICENSE FILE NAME VERSION QUANTITY
CC-BY-SA 4.0 MOUNTING ANGLE.ipt 1.0 1
SCALE SHEET DATE
1/2 97 24/9/2020



https://creativecommons.org/licenses/by-sa/4.0/legalcode

20

30

SECTION B-B
SCALE1:1

STEEL QUENCHED ON 840/880 °C ; TEMPERED ON 200 °C

PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
HARDEND INSERT FOR CROPPING HOLE 1.7 PART STEEL SAE 9260
LICENSE FILENAME - |VERSION QUANTITY
CC-BY-SA 4.0 CROPPING HOLE.ipt 1.0 !
SCALE SHEET DATE
1:1 10/17 24/9/2020



https://www.suministrosparacuchillos.com/acero-9260.php
https://creativecommons.org/licenses/by-sa/4.0/legalcode

PROJECT CREATED BY APPROVED BY

CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL

BLADE 2 ASSEMBY

LICENSE FILE NAME VERSION QUANTITY
CC-BY-SA 4.0 BLADE.iam 1.0 1
SCALE SHEET DATE
1/25 1 24/9/2020



https://creativecommons.org/licenses/by-sa/4.0/legalcode

280 _
B 210 |
R20 - 45
&
o _
2 © 2 |
P
80
R
R520
STEEL QUENCHED ON 840/880 °C ; TEMPERED ON 200 °C
BLADES SHOULD BE LUBRICATED PERIODICALLY TO PREVENT CORROSION.
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
UPPER BLADE 21 PART STEEL SAE 9260
LICENSE FILE NAME VERSION QUANTITY
CC-BY-SA 4.0 UPPER BLADE.ipt 1.0 1
SCALE SHEET DATE
1/2 12/17 24/9/2020



https://www.suministrosparacuchillos.com/acero-9260.php
https://creativecommons.org/licenses/by-sa/4.0/legalcode
https://www.suministrosparacuchillos.com/acero-9260.php

250

70

B 170
B 80
&
[ [ n
STEEL QUENCHED ON 840/880 °C ; TEMPERED ON 200 °C
BLADES SHOULD BE LUBRICATED PERIODICALLY TO PREVENT CORROSION.
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
LOWER BLADE 2.2 PART STEEL SAE 9260
LICENSE FILE NAME VERSION QUANTITY
CC-BY-SA 4.0 LOVER BLADE.ipt 1.0 1
SCALE SHEET DATE
1/2 13/17 24/9/2020



https://creativecommons.org/licenses/by-sa/4.0/legalcode
https://www.suministrosparacuchillos.com/acero-9260.php
https://www.suministrosparacuchillos.com/acero-9260.php

&

1

®-—C

PROJECT CREATED BY APPROVED BY

CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL

LEVER 3 ASSEMBLY

LICENSE FILE NAME VERSION QUANTITY
CC-BY-SA 4.0 LEVER.iam 1.0 1
SCALE SHEET DATE
1:4 1417 28/9/2020



https://creativecommons.org/licenses/by-sa/4.0/legalcode

67

R20

20

/.

B 210 -
B 170 N
12 R18 - 89 -
18
—t B }
|
O
34 o | @
— n 1 —
R '} 3 I o
o | ™
S N
\
230
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
LEVER PLATE 3.1 PART STEEL C45
LICENSE FILE NAME VERSION QUANTITY
CC-BY-SA 4.0 LEVER PLATE.ipt 1.0 1
SCALE SHEET DATE
1/15 15/17 24/9/2020



https://creativecommons.org/licenses/by-sa/4.0/legalcode

105

Y

30

A

75

15

A

Y

+ + u
12
R15
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
CONNECTING LINK 32 PART STEEL C45
LICENSE FILE NAME VERSION QUANTITY
CC-BY-SA 4.0 CONNECTING LINK.ipt 1.0 1
SCALE SHEET DATE
1:1 16/17 24/9/2020



https://creativecommons.org/licenses/by-sa/4.0/legalcode

800
la——A,
109.4
37
— |
|
S - - - (—Q\ - S S +
1 1 I
[ R20
12
PROJECT CREATED BY APPROVED BY
CUTTING SHEARS A. PARDO
PART NAME PART CODE DOCUMENT TYPE MATERIAL
LEVER 3.3 PART STEEL A36
LICENSE FILE NAME VERSION QUANTITY
CC-BY-SA 4.0 LEVER.ipt 1.0 1
SCALE SHEET DATE
1/3 17117 24/9/2020



https://creativecommons.org/licenses/by-sa/4.0/legalcode

	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17

